O \\
\

aew ¥

33EF O %5k | 3 Way Threaded End Ball Valve

SRR

A3W-SE

EmiFEL Feature

T {FE7J : 1000 PSI

FRA%  1/4"~2"(DN8~DN50)

TRE N BAE

m ] ¢ IZHUNPT, BSPT, BSPF, DIN 2999

Em#18 Specification

Working Pressure: 1000 PSI

Size: 1/4"~2"(DN8~DN50)

Full Port, Reduced Port

Threaded End: NPT, BSPT, BSPF, DIN 2999

B

PORT
TYPE

R, //
% // L 2@3 2 3|2 3|2 3
G l 1
@/ L
ltem Parts Name EHZE Material #1#}
1 Body N A351 Gr.CF8M
2 Cap ih= A351 Gr.CF8M
3 Ball K A351 Gr.CF8M
4 Ball Seats BK R PTFE
5 Stem AN SS316
6 Thrust Washer A== PTFE
7 End Seals KER PTFE
8 Stem Packing =2l PTFE
9 Gland EF SS304
10 Handle BF $S304
11 Washer FET SS304
12 Washer FET SS304
13 Handle Nut BiZE 55304
14 Cap imE A351 Gr.CF8M
15 End Seals KEH PTFE
16 Stopper fEIEFIRIE $S304
17 Screw 2 SS304
18 Handle Sleeve BFBE VINYL GRIP
Dimension R Y Unit : mm
- ltem d L H D F A B C N M E G
Size NPS
1/4" DN8 11.0 69.3 60.0 132 34.7 11.00 6.00 9 4 M5*0.80 42 12.0
3/8" DN10 11.0 69.3 60.0 132 34.7 11.00 6.00 9 4 M5*0.80 42 12.0
1/2" DN15 12.5 75.7 61.8 132 38.3 10.35 5.35 9 4 M5*0.80 42 12.0
3/4" DN20 16.0 86.6 80.8 177 44.7 13.85 6.85 11 4 M6*1.00 50 15.0
1" DN25 20.0 103.0 86.2 177 50.8 20.00 8.50 11 4 M6*1.00 50 15.0
1-1/4" DN32 25.0 118.2 90.8 205 57.7 19.35 7.85 11 4 M6*1.00 50 15.0
1-1/2" DN40 32.0 125.8 102.6 205 62.7 25.75 10.25 11 4 M8%*1.25 70 15.0
2" DN50 38.0 149.0 110.8 225 74.6 25.25 9.75 14 4 M8*1.25 70 18.5

® We reserve the right to modify the design / specifications without previous notice for better quality.

» HOBREEREERE/RE  LERHEnEERNER °




